

Ministry of Higher Education, Labour & Skills Development

Scheme: Stipendium Hungaricum Scholarship 2024

Level: Masters' Degree

Iulaan Number: (IUL)475-Schol/475/2023/230

Offer Countries: Hungary

Qualified

	Quanneu															Number of Slots: 14
#	Reference No.	Gender	Highest Qualification	Eligible Grades	Π	NQ	CR	ΡΡ	Fail	Total Points	Total no. of Units	Points Average	Present Work Place / Post	Course Applied	College/University Name	Remark
1	SCHOL- 2024/0133	F	Bachelor of Arts (Honours) in Marketing, UCSI University, Malaysia / 26.11.2021	35HD 5DN 0CR 0PP	35	5	0	0	0	230	40	5.75	Dhiraagu/Assistant Manager, Roaming	International Relations	Eötvös Loránd University	Nominated
2	SCHOL- 2024/0180	F	Bachelor of Science Bio Chemistry/University of Malaya/23.2.2017	38HD 5DN 0CR 1PP	38	5	0	1	0	249	44	5.66	Maldives Police Service/Senior Forensic DNA Analyst	MSc Molecular Biology	University of Debrecen	Nominated
3	SCHOL- 2024/0013	М	Bachelor of Business Administration,/ MI college, Maldives /20.11.2023	14HD 7DN 1CR 0PP	14	7	1	0	0	114	22	5.18	Gamu Regional Hospital/Assistant Director	MA Management and Leadership	Budapest University of Technology and Economics	Nominated
4	SCHOL- 2024/0163	F	Bachelor of Arts in Accounting and Finance (Second Class Honors)/APU, Malayisa /9.7.2021	21HD 14DN 5CR 2PP	21	14	5	2	0	194	42	4.62	Allied Insurance Company/Senior Officer	Master Degree in Management and Leadership	Budapest University of Technology and Economics	Nominated
5	SCHOL- 2024/0185	F	Bachelor of Science Microbiology/ Savitribai Phule Pune University April 2022	15HD 50DN 3CR 1PP	15	50	3	1	0	297	69	4.30	IMDC/Receptionist	Msc Biotechnology	University of Pecs	Nominated
6	SCHOL- 2024/0176	F	Bachelor of Psychology /MNU/ 30.11.2023	7HD 9DN 6CR 1PP	7	9	6	1	0	91	23	3.96	Ministry of Youth, Sports and Community Empowerment /Administrative officer	Masters of Psychology (Clinical and Health Psychology Specialization)	Eötvös Loránd University	Nominated
7	SCHOL- 2024/0020	М	Bachelors of Business Administration with Honours/ OUM, Malaysia / 4.4. 2019,	8HD 21DN 10CR 1PP	8	21	10	1	0	153	40	3.83	State Electrical Company Limited/Deputy Manager	Master of International Economy and Business	University of Sopron, Alexandre Lamfalussy Faculty of Economics	Nominated
8	SCHOL- 2024/0187	F	Bachelor of Business Management Marketing/MNU/16.3.2016	3HD 12DN 7CR 1PP	3	12	7	1	0	81	23	3.52	Maldives Monetary Authority/Deputy Manager	MSc International Economy and Business	Corvinus University of Budapest	Nominated
9	SCHOL- 2024/0148	F	Bachelor of Islamic Banking and Finance/ Islamic University of Maldives, Maldives/ 10.6.2021	7HD 6DN 14CR 2PP	7	6	14	2	0	96	29	3.31	Ministry of Finance/Assistant Debt Management Executive	Master's in Finance	Corvinus University of Budapest	Nominated

Number of Slots: 14

10	SCHOL- 2024/0172	М	Bachelor of Arts in Political Science and International Relations/MNU/ 9.3.2022	2HD 9DN 12CR 1PP	2	9 1	2	1	0	73	24	3.04	5 On Deck/Journalist	International Relations	Eötvös Loránd University, Faculty of Social Sciences	Nominated
11	SCHOL- 2024/0143		Bachelor of Primary Healthcare/ National University,Maldives / 16.3.2016	4HD 7DN 17CR 2PP	4	7 1	.7	2	0	88	30	2.93	Childrens' Ombuds persons office/Compliance Officer	Public Health, MSc	University of Debrecen	Nominated
12	SCHOL- 2024/0192		Bachelors of Arts in Business and Management /University of Durham, UK / 30.6.2016	1HD 6DN 9CR 1PP	1	6	9	1	0	49	17	2.88	Roseware Corporation Pvt Ltd/Sales Account Manager	International Economy and Business	Corvinus University of Budapest	Nominated
13	SCHOL- 2024/0171	F	Bachelor of Arts in Political Science and International Relations/Maldives National University / 6.10.2021	0HD 11DN 10CR 3PP	0	11 1	.0	3	0	67	24	2.79	Ministry of Climate Change, Environment and Energy/International Relations Officer	MA International Relations	University of Pécs	Nominated
14	SCHOL- 2024/0154	F	Bachelor of Psychology/ Maldives National University, Maldives / 26.2.2020	2HD 5DN 15CR 1PP	2	5 1	5	1	0	63	23	2.74	Department of Juvenile Justice/Program Officer	Masters in Psychology	Eötvös Loránd University	Nominated
15	SCHOL- 2024/0127	F	Bachelor of Accounting and Finance,/ Maldives National University,Maldives /24.2.2021	1HD 10DN 5CR 8PP	1	10	5	8	0	64	24	2.67	Bank of Maldives/Risk Analyst	MSc International Economy and Business	Corvinus University of Budapest	Nominated as Reserve Candidate
16	SCHOL- 2024/0138		Bachelor of Arts (Hons) Business and Human Resource Management/ Villa College/ 14.10.2021	3HD 3DN 12CR 4PP	3	3 1	.2	4	0	58	22	2.64	Aims Diagnostic Care /senior patient care shift leader	MA Management and Leadership	Budapest University of Technology and Economics, Faculty of Economic and Social Sciences	Nominated as Reserve Candidate
17	SCHOL- 2024/0140		Bachelor of Arts (Hons) Business and Human Resource Management/ Villa College/ 14.1.2024	1HD 7DN 10CR 4PP	1	7 1	.0	4	0	58	22	2.64	State Trading Organization PLC/Sales Representative	MA International Economy and Business	Budapest Business University	Nominated as Reserve Candidate
18	SCHOL- 2024/0125	F	BA Banking and Finance,/Vila College, Maldives / 2.1.2024	2HD 5DN 9CR 7PP	2	5	9	7	0	57	23	2.48	Rannamaari King/Senior Accountant	Msc in Management and Leadership	University of Pécs	Nominated as Reserve Candidate
19	SCHOL- 2024/0128		Bachelor of Laws,/Staffordshire University, UK/ 23.6.2014	0HD 4DN 9CR 2PP	0	4	9 :	2	0	36	15	2.4	Maldives Marketing and Public Relations Corporation /Company Secretary	European and International Business Law	University of Debrecen	Nominated as Reserve Candidate
20	SCHOL- 2024/0178	М	Bachelor of Arts Accounting and Finance/UWE/18.6.2019	2HD 3DN 8CR 6PP	2	3	8	6	0	46	19	2.42	Tree Top Hospital/Credit Officer	Msc Finance	Budapest University of Technology & Economics	Nominated as Reserve Candidate
21	SCHOL- 2024/0129		Bachelor of Teaching with Bachelor of Economics/ The University Adelaide / 31.12.2015	0HD 8DN 17CR 5PP	0	8 1	7	5	0	71	30	2.37	SME Development Finance Corporation/Manager Credit	MA Finance	Budapest University of Technology and Economics	Nominated as Reserve Candidate

22	SCHOL- 2024/0135	М	Bachelor of Business Administration/ (HRM), 2.8.2022, Osmania University, India	3HD 9DN 7CR 19PP	3	9	7	19	0	87	38	2.29	Bandos Maldives/Sales and Marketing Executive	Master of Business Administration (MBA)	Corvinus University	Nominated as Reserve Candidate
23	SCHOL- 2024/0159		Bachelor of Arts in Business and Human Resource Management/ University of West of England, Bristol,/ 10.3.2022	1HD 5DN 8CR 8PP	1	5	8	8	0	50	22	2.27	Bank of Maldives/Employee Relations Manager	Msc Management and Leadership	Budapest University of Technology and Economics, Faculty of Economic and Social Sciences	Nominated as Reserve Candidate
24	SCHOL- 2024/0038	F	Bachelor of Health and Services Management,/ Maldives National University,Maldives/ 25.9.2022,	0HD 7DN 8CR 9PP	0	7	8	9	0	53	24	2.21	Assandha Company pvt ltd/Assistant Officer	Social Work in Healthcare	Esterhazy Karoly Catholic University	Nominated as Reserve Candidate
25	SCHOL- 2024/0182	F	Bachelor of Psychological Science/James cook university/30.11.2019	0HD 6DN 15CR 9PP	0	6	15	9	0	63	30	2.1	Cyryx College/Lecturer	MA Psychology	Eotvas Lorand University	Nominated as Reserve Candidate
26	SCHOL- 2024/0137	F	BA(Hons) Business and Human Resource Management/ Villa College/ 14.10.2021	1HD 4DN 5CR 11PP	1	4	5	11	0	43	21	2.05	IBI Maldives Pvt Ltd/Senior Assistant	MA Human Resource Counselling	University of Pécs	Nominated as Reserve Candidate
27	SCHOL- 2024/0166	F	Bachelor of Psychology/ Maldives National University, Maldives/26.2.2020	0HD 4DN 10CR 9PP	0	4	10	9	0	45	23	1.96	-	Masters of Psychology	Eötvös Loránd university	Nominated as Reserve Candidate
28	SCHOL- 2023/0871	F	Bachelor of Environmental Management/ Maldives National University, Maldives/ 10.4.2019	0HD 4DN 11CR 9PP	0	4	11	9	0	47	24	1.96	MACL/Environment Manager	Environmental Engineering	Hungarian University of Agriculture and Life Sciences, MATE	Nominated as Reserve Candidate
29	SCHOL- 2024/0123	F	Bachelor of arts in Interior Design, / Griffith College, Ireland/ 14.8.2023	1HD 1DN 17CR 9PP	1	1	17	9	0	53	28	1.89	Shah Hussain and Co/Student Intern	Master's in Interior and Spatial Design	Pecs University	Nominated as Reserve Candidate
30	SCHOL- 2024/0150	F	Bachelor of Psychology/ Maldives National University/25.09.2022	0HD 3DN 7CR 13PP	0	3	7	13	0	39	23	1.70	Fenaka Bilehdhoo Branch/Senior Officer	Masters in Psychology	Eötvös Loránd University	Nominated as Reserve Candidate
31	SCHOL- 2024/0132	F	Bachelor of Environmental Management, 10.4.2019, MNU, Maldives	0HD 3DN 7CR 14PP	0	3	7	14	0	40	24	1.67	Maldives Transport and Contracting Company PLC/Environmental Engineer/EIA consultant	Hydrobiology - Water Quality Management, MSc	University of Debrecen	Nominated as Reserve Candidate
32	SCHOL- 2024/0151	F		0HD 0DN 4CR 19PP	0	0	4	19	0	27	23	1.17	Human Rights Commission of the Maldives/Senior Investigation Officer	Psychology	Eötvös Loránd University	Nominated as Reserve Candidate

Disa	110	 10	

	Dis	qualified															
#	Ref No.	ierence	Gender	Highest Qualification	Eligible Grades	HD	DN	CR	PP Fail	T of al Daire	1 otal Points	Total no. of Units	Points Average	Present Work Place / Post	Course Applied	College/University Name	Remark
1		HOL- 24/0195	М	Bachelor of Human Resource Management / Maldives National University, Maldives /4.10.2023										Kulhudhuffushi Regional Hospital/Assistant Customer Service Officer	MA in International Relations	Eötvös Loránd University	* Did not submit application via Stipendium Hungaricum portal
2		HOL- 24/0196	F	Bachelor of Arts Business Management with Marketing /University west of England, Bristol / 27.6.2022										MWSC/MARKETING AND PR ASSISTANT	MSc Marketing	Corvinus University of Budapest	*Bachelor's degree certificate is not validated by MQA
3		HOL- 14/0198	F	Bachelor of Arts Film and Performing Arts Practices/ DE Montfort University, UK/ 22.6.2023										Public Service Media/Assistant Producer TP 6	Film Theory		* Bachelor's degree certificate is not validated by MQA *Full transcript not submitted *Did not submit official work experience letter after highest qualification or Own letter mentioning the reason for not submitting
4		HOL- 24/0199	F	Bachelor of Information Technology/ Maldives National University, Maldives /12.4.2017										Maldives Transport Authority/Assistant Licensing officer	Master of Business Administration (MBA)	Corvinus University of Budapest, Institute of Business Economics	*Passport copy not submitted
5		HOL- 24/0136	F	Bachelor of Science in Psychology and Counseling,/ Zikura International College / 12.8.2023										-	MA Psychology	Eötvös Loránd University	*Expired ID card copy submitted * Did not submit official work experience letter after highest qualification or Own letter mentioning the reason for not submitting
6		HOL- 24/0142	М	Bachelors of Business (Honors) (International Business)/ Taylor's University, University of the West of England, Bristol/ 2021										Fusion Inbound, USA/E-mail Marketing Expert	Masters in Marketing	Corvinus University of Budapest	* Bachelor's degree certificate is not validated by MQA
7		HOL- 24/0145	F	-										Bank of Maldives /Payments and settlement assistant	Masters in Finance	Corvinus University of Budapest	*Bachelor's degree certificate not submitted *Full transcript not submitted

8	SCHOL- 2024/0147	F	Bachelor of Nursing/ Maldives National University,Maldives /21.10.2020				IGMH/Senior Registered Nurse	Advanced Practice in Nursing	University of Pécs, Faculty of Health Sciences	*Incomplete ID card copy submitted
9	SCHOL- 2023/0854	М	Bachelor of Science / University of Bristol, UK/ 17.05.222				MTCC/Software Developer	MScComputer Science (Budapest)	Eötvös Loránd University	* Bachelor's degree certificate is not validated by MQA
10	SCHOL- 2023/0868	М	Bachelor of Law with Honours / Staffordshire University/ 16.06 2015				Prosecutor Generals Office/Public Prosecutor	European and International Business Law - LL.M.	University of Debrecen	*Did not submit application via Stipendium Hungaricum portal *Stipendium Hungaricum application form not submitted via myedu portal.
	SCHOL- 2024/0168	F	Bachelor of Arts in Architectural Design/MNU/14.3.2018				MintBox/Junior Architect	Urban Systems Engineering (MSc)	University of Debrecen	* Stipendium Hungaricum application form not submitted via myedu portal.
	SCHOL- 2024/0175	F	Bachelor of Psychology /MNU/ 30.11.2023				Fantasy Pvt Ltd/Business officer	Masters of Psychology	Eötvös Loránd University	* Did not submit work experience letter after highest qualification or Own letter mentioning the reason for not submitting
13	SCHOL- 2024/0181	F	Bachelor of arts in interior design/university of Northumbria at Newcastle/1.8.2014Bachelors (Hons) Arts in Interior Design				Housing Development Corporation /Interior Designer	MA Interior and Spatial Design	University of Pécs	* Bachelor's degree certificate is not validated by MQA *Full transcript not submitted
14	SCHOL- 2024/0183	F	MA International Relations/ Eötvös Loránd University, Faculty of Social Sciences				Maldives civil aviation authority/Senior Legal officer	MA International Relations	Eötvös Loránd University, Faculty of Social Sciences	 * Stipendium Hungaricum application form not submitted via myedu portal. *Nominated under Turkiye Scholarship 2024
15	SCHOL- 2024/0170	F	Bachelors of Human Resource Management/MNU/25.9.2022				Employment Tribunal/Assistant Administrative Officer	MA in Human Resource Counselling	University of Pécs	*Nominated under Turkiye Scholarship 2024
	SCHOL- 2024/0134	М	Bachelor of Information Technology (Software Design and Development)				Aasandha Company Pvt Ltd/Developer	Business Informatics	Corvinus University of Budapest	*Nominated under Turkiye Scholarship 2024
	SCHOL- 2024/0156	М	-				Housing Development Coorporation/Assistant Site Engineer	Urban Systems Engineering	University of Debrecen, Faculty of Engineering	*Nominated under Turkiye Scholarship 2024
18	SCHOL- 2024/0190	F	Bachelor of Arts and Social Sciences/ Monash University/27.1.2021				Maldivian Red Crescent /Programme Officer - Disaster Risk Management	MA in Social Policy	University of Pecs	* Did not submit student or guarantor letter agreeing to repay the loan during scholarship duration *Nominated under Turkiye Scholarship 2024